Exercise 9-8A


Operating income ÷ Operating assets =  ROI


Operating income ÷ $300,000
=  15%


Operating income = Operating assets 
x ROI


Operating income = $300,000 x 15% = $45,000


Operating income = Sales – Expenses =  $180,000 – Expenses=$45,000


Expenses = $180,000 – $45,000 = $135,000

a.
If expenses are reduced by $18,000, they would become $117,000.  Accordingly, the net income will become $63,000 (i.e., $180,000 – $117,000).


ROI  = $63,000 ÷ $300,000 = 21%

b.
If both sales and expenses cannot be changed, the net income would remain at $45,000.  To reach the same result of increasing ROI from 15 % to 21%, the investment base needs to be decreased.


Operating income ÷ Operating assets =  ROI


$45,000
÷ Operating assets =  21%


Investment = $45,000 ÷ 21% = $214,286 (rounded)


The operating assets must be decreased from $300,000 to $214,286 to achieve 21% ROI.  In other words, the investment base must be decreased by $85,714.

Exercise 9-9A


RI = Earned income ​– (Operating assets x Desired rate of return)


RI = $1,170,000 – ($9,000,000 x 10%) =$270,000

Exercise 9-11A

	ROI
	
	Margin x Turnover

0.10 x 2 = 0.20 or 20%

	Investment in operating assets
	
	Turnover= Sales/ Operating assets = 2 

$600,000/ X = 2

X = $300,000

	Operating income
	
	Margin = Operating income/Sales

0.10 = X/$600,000

X = $60,000

	Residual income
	
	$60,000 - 0.18 ($300,000) = $6,000


Exercise 9-12A

Current RI:


$6,000,000 x 20% – $6,000,000 x 15% = $300,000


New RI if the investment opportunity is adopted:

($6,000,000+$4,000,000) x 19.2% – ($6,000,000+$4,000,000) x 15% = $420,000 

Because the new residual income is greater than the current residual income, the Milwee Division will be better off taking the opportunity.

Problem 9-21A

a.
Margin = Operating income ÷ Sales



   = $60,000 ÷ $800,000 = 7.5%

b.
Turnover = Sales ÷ Operating assets = $800,000 ÷ $400,000= 2

c.
ROI   = Margin x Turnover = 7.5% x 2 = 15%

d1.
ROI   = Margin x Turnover



= ($80,000 ÷ $1,000,000) x ($1,000,000 ÷ $400,000) 



= 20%

d2.
ROI   = Margin x Turnover



= ($64,000 ÷ $800,000) x ($800,000 ÷ $400,000) 



= 16%

d3.
ROI   = Margin x Turnover



= ($60,000 ÷ $800,000) x ($800,000 ÷ $320,000) 



= 18.75%

Problem 9-22A

a.
Western Division’s ROI before the new investment opportunity:

$1,120,000 ÷ $8,000,000 = 14%

Western Division’s ROI after the new investment opportunity:

($1,120,000 + $135,000) ÷ ($8,000,000 + $1,000,000) = 13.94%

Because Western Division’s ROI would decline if Western decides to take the additional investment, it will not accept the additional funding.

b.
Quest Company’s ROI before the new investment opportunity:

$2,500,000 ÷ $20,000,000 = 12.50%

Quest Company’s ROI after the new investment opportunity:

($2,500,000 + $135,000) ÷ ($20,000,000 + $1,000,000) = 12.55%

Because Quest Company’s ROI would rise if Western decides to take the additional investment, Quest would benefit from the new investment.

c.
Western’s additional residual income if investment is accepted:

$135,000 – $1,000,000 x 12% = $15,000

Because the residual income for Western’s new investment is greater than zero, Western would accept the new funding when the residual income is used as the sole performance measure.

